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GRADE 12 APPLIED Name:
QUIZ - WEEK 5 (22-05-05) <’3>O MINS) pae:

Use the formulae in my (but preferably your) cheat sheet, and / or use open
book.
The quiz i1s available, on request before 10:00, for those stuck at
home. Solve, Scan, Send by 12:15
Round decimal and percent answers to nearest 0.01. All fractions are to be
reduced.
Show organized work for best mark. A plain answer with no
explanation is not sufficient. Showing any reasonable work is likely
worth some marks.
If using an App, give a hand-drawn ‘screen shot’ of the App’s entire display
with your entries and the solution.
Each individual question is worth two marks unless otherwise
indicated.
Do the bonuses, for this quiz you can exceed 100%

1. Carol has five different cute dolls. Her mom says she can bring any two
of them with her on a car nde. Determine how many possible different
selections of two dolls Carol can grab to throw in her knapsack.
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2. The teacher has a class of 9 students. How many different ways can he

line up (in some order):
> qf oG}

a. all the students at the door,

. three of the students at the door;
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2. The teacher has a class of 9 students. How many different ways can he

line up (in some order):
- 362,880

b. three of the students at the door;
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cheat sheet for the course



\Y! GRADE 12 APPLIED COURSE REFERENCE NOTES (€0 = iBINATION
UNITS A & E- I'RHH.-\BII.IT\'. I‘I-‘.l-l!hllT;\Tll‘.I?i!i & COM Bl?i:\.'ﬁ'[]?iﬁ

-py: 1f onc event can occut in ‘s’ ways, @ second cvent in b’ ways, a third event in "¢’
ways, and s0 00, then the number of ways that all events can occur one after other is the product a*h*c... Eg: number of
license plates we canl make _1_#1';_!1‘;_!1‘_1_&‘1_!1'_1_&. Watch if repetitions arc allowed or not.

Permutations Order does matter! j«, 2=4, 3% m a race of 12 runners. 12°1 I‘ﬂpmsibl: choices. Or 2 P, .

x A —

-

WWIW . 4 Red balls. 2 Green Balls. Number of distinguishable Ways 1o arrange the 6 balls
h’l

with 4 red and 2 green balls is ;ﬁ.  Just like amranging YES and Nos. If onty two different objects then = C ombo.

Combinalions Arrangements of objects Where order does not matier Sclecting commitiees of people (00 special positions

or rewards), Lotto 6/49, etc.
SRR i o
Eg: how many na}scnnncammmccol'll’trﬁ pcupl:bct‘omcd from 12 people- 123 = T3 220 ‘ k 't

prob(A) = P(A) = % . cg: Prob(Draw a King) = 452, /Sample space: the st of all possible
outcomes. Use a trec oF wble. // Outcome: {he result of on¢ trial of an experment (eg: flipping o< coin has only H of T
outcome)!/ Eveat A sct of putcomes. Eg: rolling tWo dice, an cvent might be the set of outcomes Where doubles werc
w. The probability of an cvent happening is 1 - the probability it won't happen”. Complement of cvent A IS

A.So pA) =1~ P(A). At least once Probs: problAs 21 time)= 1~ P(no A's) ﬁ ‘S»\ bu

ODDS, Odds in favour = favourable:not favourable: €2 wins : losses. Odds Against = not favourable : favourable

- y o (l 1 4 - jon: = - . i lon: =
D e e P G Compinsion: +Cr = e ey E'.“a'l'_\v \

w‘mﬂm: For successive cvents. Keyword: AND. Often one probability is dependent on the fist. Often

indicates whether somcthing is draWn and with replacement OF nol.

W Let A be event of being hit by bus. Let B be event of winning lottery- Both arc independent cvents.

Say P(A) = 0.01, and P(B) = 0.01. Prob of getung hit by a bus and winning the jottery = ProblA AND By

PIAY*P(B)=0.01 +0.01=0.0001. wﬁﬂi Standard deck of cards. Probability of drawing a King then a Queen ow y
without replacing the first card. Let K= cvenl of drawing King first draw: Q2 = event of drawing Quecn second. P(K1 and L S

then Q2) = POK) P(Q:! K= 5~ 2= 0.60%
Adding M . For compomd cvenis. multiple cvents. Kevword: OR Y S
Eg: Lnli=5ﬂnhlt{iﬂ.i. Let S=5¢t of all spades.
[

Prob (K OR §) = P(K) p(S) - Prob (K AND §). =+ B

E—-‘—=:=-Iti-'3ﬂ‘?% thmblﬂﬂmguutthc
common card tosct K AND set 5. that is the K# 50 we don 't double count W Mutually exclusive Events. The two cvents of .
sets that sharc no common optcomes!  ic: Kings AND Quecns arc mutually exclusive- ses()R mAdd : AND m Multiply i \h}

Pathwavs As per usual PASCAL tnangle |£g“ | f;_ 1€1 » e
n:ﬂlﬂd,l_rruﬂthcﬂr:h:omhmﬂwﬂf oLe a1 s L
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3. A ball randomly drops down

hitting the pins. Q
a. determine how many ways it

cangettoBinD ?

b. calculate the probability it pu ’ & : P
lands in Bin D or Bin E. - X & .
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4. Compound Investment. Chris puts $2,000 in an account that

accumulates 4% interest, compounded quarterly. How much money does
he have after three years?

[Solve using formula only, check yourself with an App if you want]
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5. Compound Investment. David puts $21,000 in a high-interest savings
account. The account has an interest rate of 7.2%, compounded annually.
When he takes it out, he has $31,870.44. How long did he invest his

money?
[Use an App. ‘Do hand-drawn screen shot df App solution)]
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/. Problem Solve / Logic. Five years ago, Jason was half his father's
age. His dad is 41 years old now. How old is Jason now?
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/. Problem Solve / Logic. Five years ago, Jason was half his father's
age. His dad is 41 years old now. How old is Jason now?
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/. Problem Solve / Logic. Five years ago, Jason was half his father's
age. Hisdadis 41 years oid now. How old is Jason now?
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8. Dependent Probability. The weather report calls for a 60% probability
of snow Iin northem Manitoba on Tuesday. The flight from Thompson to Flin
Flon has a 30% probability of being on time when it is snowing. There is
an 85% probability of the flight being on time when it is not showing.
a) Use a graphic organizer to show all possible outcomes for this
situation.

b) Determine the probability that the ﬂight on Tuesday will not be on
time.




BONUSES (two marks each)
For this quiz, you will be able to exceed 100%, so make sure you try the

bonuses.
9. A pair of dice iIs placed in a container and shaken well. What is the /
robability of rolling:
S deiat SR Need o sample space
Q q
a. doubles or a sum of 9?
“‘ /4

b. a sum less than 6 or doubles?

)
P( Do) P(D)+P(4)
= Yo+ Ay %
gz

18 = uj’l‘.g A

=
-

B) P(2¢ or D) = P(6)+N(0)-P(<¢ v 5), b

= 10/364-%(, ‘%6



10. Seven blue marbles and five yellow marbles are placed in a bag. A

marble is drawn, placed back in the bag and a second marble isghos&
What is the probability rounded to 3 decimal places of drawing two blue

marbles or two yellow marbles?
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11. Problem Solve. Determine the sum of the whole counting numbers
from one to 40 inclusive.
fo Dope this abast 10

l

{Lmes how .

One way to solve a problem is to look for a pattern
Another way is to make the problem simpler

l+1+3 plf. AR pat term? Manbe even & Pomaale!

[+d #3+Y4 + 4+ * & 2} 438+39+ 40
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12. Annuity Payments. Evan has $3,500 in his savings account but he

wants to add more to save up for a boat. He is able to deposit $225 Present Viiue ﬂ -3,500 i
monthly. The bank offers him a 2.4% interest rate. He estimates he wants

to buy the boat in four years. | Payments {225 j

a) How much will he have saved for the boat after 4 years? Euture value |4,197.39

b) How much interest does his investment make? Annual Rate ﬁz 1)

(%)

[Use an App Do hand-drawn screen shof]

Periods
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12. Annuity Payments. Evan has $3,500 in his savings account but he
wants to add more to save up for a boat. He is able to deposit $225
monthly. The bank offers him a 2.4% interest rate. He estimates he wanis

to buy the boat in four years.
Lhe use
@How much will he have saved for the boat after 4 years? C{'a

b) How much interest does his investment make? n n PT /

n e LV
(fige an S(pp Do hand-drawn screen shof]
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